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1.Using aggregate demand, short-run aggregate supply, and fong-run aggregate
supply curves, explain the process by which each of the following economic
events will move the economy from one long-run macroeconomic
equilibrium to another. Illustrate with diagrams. In each case, what are the
short-run and long~-run effects on the aggregate price level and aggregate
output?
a. There is a decrease in households” wealth due to a decline in the stock
market. (7%)
b. The government lowers taxes, leaving households with more disposable
income, with no corresponding reduction in government purchases. (7%)

2. A recent study determined the following elasticities for Volkswagen
Bectles(3& #7 4 8 #.):

Price elasticity of demand =2
Income elasticity of demand = 1.5

The supply of Beetles is elastic. Based on this information, are the
following statements true of false? Explain your reasoning,
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a. A 10% increase in the price of a Beetle will reduce the quantity demanded
by 20%. (5%)

b. An increase in consumer inconte will increase the price and quantity sold of
Beetles.  Since price elasticity of demand is greater than 1, total revenue

will go down. (6%)

3. Use the demand schedule for diamonds given as follows, The marginal cost
of producing diamonds is constant at $100. There is no fixed cost.

Price of diamond  |Quantity of diamonds
demanded

$500 0

400 1

300 2

200 3

100 4

0 5
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a.If De Beers charges the monopoly price, what is the monopoly price?
How large is the individual consumer surplus that each buyer experiences at
this monopoly price? Calculate total consumer surplus by summing the
individual consumer surpluses. How large is producer surplus? (10%)

Suppose that upstart Russian and Asian producers enter the market and the
market becomes perfectly competitive.

b. What is the perfectly competitive price? What quantity will be sold in this
perfectly competitive market? (8%)

c. At the competitive price and quantity, how large is the consumer surplus
that each buyer experiences? How large is total consumer surplus? How
large is producer surplus? (8%)

d.Compare your answer to part ¢ to your answer to part a. Flow large is the
deadweight loss associated with monopoly in this case? (5%)
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